		Basis	A&W Graphics Barton Printing		Carlton Comm		Del Litho		Envision Print			
Item No.	DESCRIPTION	of	420	00175	090	10203	370	17150	350	26803	150	30970
		Award	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I.	PRINTING, BINDING, AND PACKING											
(a)	Cover: Printing text in a single ink color, inc binding per comp cvr											
1	Makeready and/or Setup	20	\$1.00	\$20.00	\$2.00	\$40.00	\$3.16	\$63.20	\$6.50	\$130.00	\$0.00	\$0.00
2	Running Per 100 Copies	99	\$12.00	\$1,188.00	\$3.50	\$346.50	\$1.26	\$124.74	\$10.00	\$990.00	\$3.25	\$321.75
(b)	Text: Printing text in a sigle ink color inc. binding per page											
1	Makeready and/or Setup	3916	0.10	\$391.60	1.50	\$5,874.00	1.05	\$4,111.80	4.00	\$15,664.00	0.00	\$0.00
2	Running Per 100 Copies	18246	\$1.10	\$20,070.60	\$0.70	\$12,772.20	\$1.11	\$20,253.06	\$2.00	\$36,492.00	\$1.26	\$22,989.96
II.	ADDITIONAL OPERATIONS:											
(a)	Pre-flight Files per CD-ROM	5	\$0.00	\$0.00	\$12.50	\$62.50	\$21.05	\$105.25	\$25.00	\$125.00	\$5.00	\$25.00
(b)	Wrapping or Shrik-film Packagingper package	800	0.15	\$120.00	0.25	\$200.00	0.13	\$104.00	0.30	\$240.00	0.18	\$144.00
©	Polyethylene Wrap for mailingper package	200	0.15	\$30.00	0.55	\$110.00	0.68	\$136.00	0.50	\$100.00	0.15	\$30.00
(d)	Collating Publications into setsper set	200	0.00	\$0.00	1.00	\$200.00	0.16	\$32.00	0.30	\$60.00	0.05	\$10.00

CONTRACTOR TOTALS \$21,820.20 \$19,605.20 \$24,930.05 \$53,801.00 \$23,520.71 DISCOUNT if any 1.00% \$218.20 \$392.10 5.00% \$1,246.50 1.00% \$538.01 \$0.00 2.00% 0.00% DISCOUNTED TOTALS \$21,602.00 \$19,213.10 \$23,683.55 \$53,262.99 \$23,520.71

			Texas Digital		TPS	Enterprises	Previous Contractor		
Item No.	DESCRIPTION	of	420	86459	120	85822	Cooks	Printing	
		Award	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	
I.	PRINTING, BINDING, AND PACKING								
(a)	Cover: Printing text in a single ink color, inc binding per comp cvr								
1	Makeready and/or Setup	20	\$0.00	\$0.00	\$4.50	\$90.00	\$2.00	\$40.00	
2	Running Per 100 Copies	99	\$1.60	\$158.40	\$4.50	\$445.50	\$3.50	\$346.50	
(b)	Text: Printing text in a sigle ink color inc. binding per page								
1	Makeready and/or Setup	3916	\$0.00	\$0.00	\$0.80	\$3,132.80	\$1.20	\$4,699.20	
2	Running Per 100 Copies	18246	\$1.40	\$25,544.40	\$0.99	\$18,063.54	\$0.70	\$12,772.20	
II.	ADDITIONAL OPERATIONS								
(a)	Pre-flight Filesper CD-ROM	5	0.00	\$0.00	19.50	\$97.50	25.00	\$125.00	
(b)	Wrapping or Shrik-film Packagingper package	800	0.10	\$80.00	0.18	\$144.00	0.20	\$160.00	
©	Polyethylene Wrap for mailingper package	200	0.20	\$40.00	0.50	\$100.00	0.55	\$110.00	
(d)	Collating Publications into setsper set	200	0.50	\$100.00	2.00	\$400.00	1.00	\$200.00	

 CONTRACTOR TOTALS
 \$25,922.80
 \$22,473.34
 \$18,452.90

 DISCOUNT if any
 0.00%
 \$0.00
 1.00%
 \$224.73
 1.00%
 \$184.53

 DISCOUNTED TOTALS
 \$25,922.80
 \$22,248.61
 \$18,268.37

AWARDED

JBS Printing					
200	45401				
UNIT RATE	COST				
\$0.00	\$0.00				
\$5.00	\$495.00				
0.00	\$0.00				
\$3.50	\$63,861.00				
\$25.00	\$125.00				
0.25	\$200.00				
1.00	\$200.00				
5.00	\$1,000.00				

\$65,881.00 1.00% \$658.81 \$65,222.19